RTL Design

Exercise 1Mark the slack time in the diagram above.
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Exercise 2:If the clock period 6tk ) is knowrow are the
minimum setupyX and holdytip ) times related to the mini-

mum and maximum propagation delays (t
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Exercise 3:Which of these requires the most time and effort?
Least? Which gives the designer most control over the cost and
performance of the design? Least? Which produce(s) designs that

are portable to different implementation technologies (FPGAs, ASICs)?
Which allow the same design to meet a variety of speed/?rea tar-
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Exercise 4 How would you design a falling-edge detector? For \
how many clock cycles is the detector output true? _poum,& e&ge o\d&eu
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Exercise 5Find the following blocks in the schebha&titrin
register, the x[] memory block, the i register, the state state ma-
chine.
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Exercise 6:Each number in the Fibonacci sequence is the sum
of the previous tWérite an algorithm to compute the values of
the sequence that are less than 100 alghetepthe first two
(both 1)Nhat reglsters are required? What states? Draw the state
the contwbliler the Verilog code. Sum




